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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. (a) Explain the features of an ideal form of business 

organization.  

O;kolkf;d laxBu ds ,d vkn’kZ vfHk:i ds y{k.kksa 

dh O;k[;k dhft,A 

(b) You plan to start a business. How would you 

choose the suitable form of organization for your 

business ? 

vkius ,d O;olk; izkjEHk djus dh ;kstuk cukbZ gSA 

vki vius O;olk; ds fy, laxBu ds ,d mi;qDr 

vfHk:i dk pquko fdl izdkj djsaxs \ 

2. What are the different approaches to management ? 

Explain the significance of behavioural approach to 

management. What are its main features ?  

izcU/k ds fofHkUu n`f”Vdks.k D;k gS \ izcU/k esa O;kogkfjd 

fopkj/kkjk ds egŸo dh O;k[;k dhft,A bldh eq[; 

fo’ks”krk,¡ D;k gSa \ 

3. What do you mean by listing ? Describe the 

advantages of listing securities on a stock exchange 

from the point of view of a company and an investor. 

lwphdj.k ls vkidk D;k vk’k; gS \ dEiuh rFkk fuos’kd ds 

n`f”Vdks.k ls LVkWd ,Dlpsat esa izfrHkwfr;ksa dk lwphdj.k 

djkus ds ykHkksa dk o.kZu dhft,A 
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4. Define Motivation. Explain Herzberg‟s two-factor 

theory and also differentiate it from Maslow‟s theory 

of need hierarchy. 

vfHkizsj.kk dks ifjHkkf”kr dhft,A gtZcxZ ds nks&dkjd 

fl)kUr dh O;k[;k dhft, rFkk eSLyks dh vko’;drk&Øe 

fl)kUr ls bldh rqyuk Hkh dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  

Answers of these questions must be restricted to 

two hundred fifty (250) words approximately. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA izR;sd iz’u dk mŸkj nks lkS ipkl ¼250½ ‘kCnksa ls 

vf/kd ugha gksuk pkfg,A 

Briefly discuss any four (04) of the following : 

fuEufyf[kr esa ls fdUgha pkj ¼04½ ij la{ksi esa ppkZ dhft, % 

1. Advantages of Raising Capital through Borrowings. 

_.k }kjk iw¡th izkIr djus ds ykHkA 

2. Functions of the Unit Trust of India. 

;wfuV VªLV vkWQ bafM;k ds dk;ZA 
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3. Changing role and identity of Entrepreneur in Modern 

Business.  

vk/kqfud O;olk; esa m|eh dh cnyrh gqbZ Hkwfedk ,oa 

igpkuA 

4. Classification of Industry. 

m|ksxksa dk oxhZdj.kA 

5. Management as a Profession. 

izcU/k ,d is’ks ds :i esaA 

6. Role of single use plans in Organizations. 

laxBuksa esa ,dy mi;ksx ;kstukvksa dk egŸoA 

7. Write short notes on the following : 

(a) Objectives and Policies 

(b) Functional Organization 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k;s % 

¼v½ mís’; vkSj uhfr;k¡ 

¼c½ dk;kZRed laxBu 

8. Distinguish Between Administrative Management and 

Operative Management. 

iz’kklukRed izcU/k vkSj fØ;kRed izcU/k esa vUrj Li”V 

dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Fill in the blanks with appropriate words or phrases : 

mfpr ‘kCn ;k okD;ka’k ds lkFk fjDr LFkkuksa dh iwfrZ dhft, % 

1. Procedures helps to save ....................... time. 

izfØ;k,¡ 
--------------------------------

 le; dh cpr djrh gSA 

2. A public company can issue shares and debentures 

after its ...................... 

dksbZ lkotZfud dEiuh vius 
--------------------------------

 ds ckn gh va’kksa 

vkSj _.ki=ksa dk fuxZeu dj ldrh gSA 

3. One who takes the risk of starting and managing 

business is known as ....................... 

og O;fDr tks O;olk; ‘kq: djus rFkk mlds izcU/k dk 

tksf[ke mBkrk gS] 
--------------------------------

 ds uke ls tkuk tkrk gSA 

4. Voluntary collective effort of persons to achieve the 

specific objectives is called ......................  

fof’k”V mís’;ksa dks izkIr djus ds fy, LoSfPNd :i ls 

feyus okys O;fDr;ksa dk lkewfgd iz;kl 
--------------------------------

 

dgykrk gSA 

5. Industry which is concerned with reproducing and 

multiplying plants and animals with the objective of 

earning profit from their sale is known as .................... 

os m|ksx ftudk lEcU/k ykHk vftZr djus ds mís’; ls 

foØ; ds fy, iztuu }kjk i’kqvksa vkSj ikS/kksa dh iztkfr esa 

o`f) djuk gksrk gS] 
--------------------------------

 dgykrk gSA 
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Choose the correct alternative : 

lgh fodYi pqfu, % 

6. Activities concerned with the buying and selling of 

goods and services are called : 

(a) Commerce  

(b) Business 

(c) Profession 

(d) Trade 

oLrqvksa vkSj lsokvksa ds Ø; rFkk foØ; ls lEcfU/kr fØ;k,¡ 

D;k dgykrh gSa \ 

¼v½ okf.kT; 

¼c½ O;olk; 

¼l½ is’kk 

¼n½ O;kikj 

7. A partner who is not participating in the management 

of the firm is called : 

(a) Active Partner 

(b) Nominal Partner 

(c) Sleeping Partner 

(d) None of these 

lk>snkjh QeZ esa lk>snkj tks QeZ ds dkjksckj esa lfØ; :i 

ls Hkkx ugha ysrk gS] D;k dgykrk gS \ 

¼v½ lfØ; lk>snkj 

¼c½ ukeek= lk>snkj 

¼l½ lqIr lk>snkj 

¼n½ buesa ls dksbZ ugha 
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8. According to ..................... employees love work as 

play or rest. 

(a) X Theory 

(b) Y Theory 

(c) Z Theory 

(d) None of these 

--------------------------------
 ds vuqlkj deZpkjh [ksy vkSj vkjke dh rjg 

dk;Z djuk Hkh ilUn djrs gSaA 

¼v½ X fl)kUr 

¼c½ Y fl)kUr 

¼l½ Z fl)kUr 

¼n½ buesa ls dksbZ ugha 

9. A group of individuals to whom any specific 

information or advice are assigned as a group for 

exchange of ideas or for decision-making, is called : 

(a) Coordination 

(b) Cooperation 

(c) Committee 

(d) None of these 

O;fDr;ksa dk ,d lewg ftUgas dksbZ fo’ks”k lwpuk ;k lykg] 

,d lewg ds :i esa fopkjksa ds vknku&iznku ;k fu.kZ;u ds 

fy, lkSaih tkrh gS] fuEu esa ls D;k dgykrk gS \ 

¼v½ leUo; 

¼c½ lg;ksx 

¼l½ lfefr 

¼n½ buesa ls dksbZ ugha 



 [ 8 ] BC–10 

A-53 

10. Which of the following technique is not a modern 

technique of control ? 

(a) Break-even Analysis 

(b) Management Audit 

(c) Statistical Quality Control 

(d) Budgetary Control 

fuEufyf[kr esa ls dkSu&lh rduhd fu;U=.k dh vk/kqfud 

rduhd ugha gS \ 

¼v½ le&foPNsn fo’ys”k.k 

¼c½ izcU/k vads{k.k 

¼l½ lkaf[;dh; xq.koŸkk fu;U=.k 

¼n½ ctVu fu;U=.k 
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